* %

Arbeitsblatt: Die Hdlfte von (bis 50)

Halbieren

4. 42 > 5 48 —» 6. 24 —

w42 — 5. 24 — 9. 38 —»

10.28 — 1.34 — 12.22 —

.30 —» 1442 — 5.6 =

6 26 — 7.2 = 1. 18 —

19.20 - 2.6 > 1. 48 —

2 .32 — 73 46 — w4 -

5. 18 — 6. 12 — 7. 8 =

2.6 > 9 24 — 3040 -

3. 46 — 3234 — 3334 —
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* %

Arbeitsblatt: Die Halfte von (bis 50) | ANTWORTEN

Halbieren

028 - 14 .34 — 1F 222 - 11

230 » 15 2 42 — 21 56 > 3

6 26 — 13 7.2 = 1 .18 > 9

19.20 - 10 w6 = 3 1 48 24

» 32 > 16 » 46 > 23 v G4 > 2

5 18 = 9 6. 12 - 6 7.8 > 4

w6 = 3 9 24 — 12 0. 40 > 200

31 46 — 23 2. 34 — 17 334 —» 17
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